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WEST BENGAL STATE UNIVERSITY

B.Sc. Programme 6th Semester Examination, 2023

ZOOGDSE03T-ZooLOGY (DSE2)
Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.
Candidates should ansver in their own words and adhere to the word liniit as practicable.
All symbols are of usual significance.

1. Answer any eight questions: 2x8 =16
FeRRS @-cen w5 el Tee we:
(a) What is Ramsar Site?
AeEE o [
(b) What is Bog?
e
(c) What is meant by lotic ecosystem?
JZH IrEoF IO & QRN 9
(d) Name two deep sea organisms.
SIS FEE ¥ib S i @
(e) Differentiate between plankton and nekton.
2IE5 8 GRRSETA Wy ~ie facfa e
(f) What is the difference between active and passive gears?
2T @ AT M e ~Hdey & 2
(g) What are BOD and COD ?
BOD ¢ COD & 2
(h) What is hardness of water?
TeR el & ¢
(i) What is hydrothermal vent?
TreiA e & ¢
(j) What is cold water fishery?
1S ST JFGIE 2
(k) What is tertiary treatment of sewage?
T SR AT afEnad /o
(1) Define coral reef.
el DI TR W
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2.

Answer any three questions:
fasfeiRe @-cil feafe et Ted wies
(a) What are wetlands? Mention their salient features.
Tl T 0 9 TR A BT e
(b) Explain an aquatic food chain.
O3 TR ey N I
(c) What is riparian zone of river?
T AfReE et IS T Q@I 2
(d) What is thermal stratification of a lake?
T ST BRreI IS 1 @I 9
(e) What is agricultural pollution? Mention its one effect.

I 730 & ¢ 97 9 dSR Gl

Answer any three questions:
forsfERe @-ie s e Tea wes
(a) Write briefly about the conditions for forming coral reefs.
FRCFCA 2IeT I (oA Sl e
(b) How eutrophication affects aquatic ecosystem?
ST O TeTs IAFeAT 2l I ?
(c) Classify ocean zone on the basis of depth.
ISl ey TR SrerafeE RS Tt
(d) Mention physicochemical characteristics of nitrates. What is the role of
bicarbonates in lake ecosystem?
BT (STo AR CIREy el 207 AIFOTE LIS gt [ 2
(e) Write notes on the following:
fsfefe Rawa et et
(i) Continental shelf
SRICE AT
(ii) Nitrogen fixation.
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